
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

פתרון בחינת הבגרות באנגלית 
 

שאלון ד' 
)MODULE D (

 
 404, 016105מספרי השאלון: 

גרסה א' 
 

מוגש על ידי: 
אורית הולנדר, נחמה מצנר,  דנה דרורי וארז 

צרפתי 
מורים לאנגלית ברשת בתי הספר של  

יואל גבע 
 

הערות:  
 התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון. .1
תיתכנה תשובות נוספות, שאינן מוזכרות כאן, לחלק  .2

מהשאלות. 
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√
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√


linoym
Text Box
תשובות נוספות- ראה נספח


linoym
Text Box
astronauts disliked the food so much that they refused to eat it.
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Text Box
תשובות נוספות- ראה נספח


linoym
Text Box
They managed to produce complete meals of real food (which were

linoym
Text Box
    specially packaged to keep them fresh).

linoym
Text Box
the weight

linoym
Text Box
Today the methods of packaging only keep food fresh for

linoym
Text Box
about 18   months.  



 
 
 
 
 
 

 
 



 
 
 
 
 
 

 
 



 
 
 
 
 
 

 
 



 

 

  

  
  
  
  
  
  

  
 

: 3שאלה   

astronauts disliked the food (it). 

or 

astronauts refused to eat the food (it). 

 

: 5שאלה   

(1) 20 tons of food is too heavy (for the spaceship to carry). 

or 

The meals are too heavy (for the spaceship to carry). 

  

  נספח

  'דשאלון  

)MODULE D(  

  תשובות אפשריות נוספות

 
 
 
 
 
 

 
 




